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SWORD IN STONE SOLUTION
OBJECT: REMOVE THE SWORD 

FROM THE BASE BLOCK

1.	 With the sword starting completely inside 
of the base block, rotate the sword so that 
the "tooth" marked R1 lines up with the gap 
in the base block marked D9 and slide the 
sword up one step.

2.	 Turn L2 clockwise to D1 then slide up.
3.	 Turn L2 clockwise to D11 then slide down.
4.	 Turn L2 clockwise to D9 then slide up.
5.	 Turn R3 counterclockwise to D3 then slide 

up.
6.	 Turn L2 clockwise to D9 then slide up.
7.	 Turn R5 clockwise to D1 then slide up.
8.	 Turn R5 clockwise to D11 then slide down.
9.	 Turn R5 clockwise to D9 then slide up.
10.	Turn L6 clockwise to D1 then slide up.
11.	 Turn L6 clockwise to D11 then slide down.
12.	Turn L6 clockwise to D9 then slide up.
13.	Turn R7 counterclockwise  to D3 then slide 

up.
14.	Turn L8 clockwise to D9 then slide up.
15.	Turn R9 clockwise to D1 then slide up.
16.	Turn R9 clockwise to D11 then slide down.
17.	Turn R9 clockwise to D9 then slide up.
18.	Turn L10 clockwise to D1 then slide off.
Reverse these steps to return the sword into the 
base block.


